

# NEW INTEGRAL TRANSFORMATION WITH SOME ITS USES

# Huda Faris Abd Alameer<sup>1</sup> and Ali Hassan Mohammed<sup>2</sup>

<sup>1,2</sup>Mathematics Department, Education for Girls Faculty, Kufa University, Najaf, Iraq

 $^{1}Hudaf.albazi@student.uokufa.edu.iq, ^{2}prof.ali57hassan@gmail.com$ 

## Abstract :

In this work ,we introdce new integral transformation which will call it by Albazy Altememe transform defined by the following integral:

 $HA[f(x)] = \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n f(x) \, dx \, ; \, n \in z^+$ 

Also, introducing the properties ,theorems and transformations of the constant functions ,logarithm functions and other functions. Studying how we can find the inverse of this transformation.

### 1. Introduction:

In recent years, many integral transformations have appeared for the researcher Ali Hassan Mohammad, including the AL-tememe transformation [2], as well as the transformation of Al-Zughair [3], the expansion of Al-Zughair [4], and the extension of Al-Zughair transformation [5], in addition the transformations of Batoor Al-Tememe, Batoor Al-Zaghair, Kuffi Al-Tememe, and Kuffi Al-Zughair[6].

In our research, we introduced a new transformation that we called Al-Bazy Al-Tememe transformation, which formulated:

$$HA[f(x)] = \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n f(x) dx ; n \in z^+$$

All these conversions are used to solve different types of ordinary and partial differential equations, as well as integral equations.

We can see the Gabriel Nagy in [1] presented the integral transformation. Let f is defined function on interval (a, b) then the integral transformation for f whose symbol F(p) is defined as :

$$F(p) = \int_{a}^{b} k(p, x) f(x) dx$$

Where k is a constant function of two variables, called the kernel of the transformation, and a, b are real numbers or  $\pm \infty$ , such that the above integral converges.

#### 2. Main Results.

In this section we will introduce some of important definition and theorems about new transform for the function f(x). In the above section we presented some of work the relation with my transform.

Definition 2.1.

Let f(x) be a function, the Albazy Altememe transform for the function f(x), is defined by the following

$$HA[f(x)] = \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n f(x) dx \; ; n \in z^+$$

where  $-\frac{(-1)^n}{n!}(\ln x)^n$  is kernel of Albazy Altemene transform such that this integral is converge.

# **Proposition 2.2.**

Suppose that f(x) and g(x) are functions defined where  $x \in (0,1]$ , where  $B_1$ ,  $B_2$  are constants, then

$$HA[B_1F(x) \pm B_2 \ g(x)] = B_1HA[f(x)] \pm B_2HA[g(x)]$$

**Proof:** 

$$HA[B_1f(x) \pm B_2 g(x)] = \frac{(-1)^n}{n!} \int_0^1 (B_1(\ln x)^n f(x) dx \pm B_2 (\ln x)^n g(x) dx)$$
  
=  $\frac{(-1)^n}{n!} [\int_0^1 B_1 (\ln x)^n f(x) dx \pm \int_0^1 B_2 (\ln x)^n g(x) dx$   
=  $B_1 \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n f(x) dx \pm B_2 \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n g(x) dx$   
=  $B_1 HA[f(x)] \pm B_2 HA[g(x)].$ 

### Theorem 2.3.

Let f(x) be a function, the Albazy Altememe for some fundamental functions are given in below table:

f(x)	$HA[f(x)] = \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n f(x) dx; n \in z^+$	
1	1	
$(\ln x)$	-(n+1)	
$(\ln x)^{-1}$	$-\frac{1}{n}$	
$(\ln x)^a$	$\frac{(-1)^{n+a}}{n!}(n+a)!$	$a \in z^+$
$(\ln x)^{-a}$	$\frac{(-1)^{n-a}}{n!}(n-a)!$	$a \in z^+$
sinh ln ln x	$\frac{-(n+1)}{2} + \frac{1}{2n}$	
cosh ln ln x	$\frac{-(n+1)}{2} - \frac{1}{2n}$	
sinha ln ln x	$\frac{(-1)^{a}}{2n!}(n+a)! - \frac{(-1)^{-a}}{2n!}(n-a)!$	$a \in z^+$
cosha ln ln x	$\frac{(-1)^{a}}{2n!}(n+a)! + \frac{(-1)^{-a}}{2n!}(n-a)!$	$a \in z^+$

$$\begin{aligned} 1.HA(1) &= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n (1) \, dx \\ &= \frac{(-1)^n}{n!} \cdot n! \, (-1)^n = 1 \\ 2.HA((\ln x) &= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n (\ln x) \, dx \\ &= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^{n+1} \, dx \\ &= \frac{(-1)^n}{n!} [(\ln x)^{n+1} \, x]_0^1 - (n+1) \int_0^1 (\ln x)^n \, \frac{1}{x} \, x \, dx] \\ &= \frac{(-1)^n}{n!} (-(n+1) \int_0^1 (\ln x)^n \, dx) = \frac{(-1)^n}{n!} (-1)^n (n+1)! \\ &= -(-1)^{2n} (n+1) = -(n+1) \\ 3. HA((\ln x)^{-1}) &= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n (\ln x)^{-1} \, dx \\ &= \frac{(-1)^n}{n!} \int_0^1 \ln x)^{n-1} \, dx \\ &= \frac{(-1)^n}{n!} (-1)^{n-1} \cdot (n-1)! \\ &= (-1)^{2n} \frac{(-1)^{-1}(n-1)!}{n!} = \frac{-(n-1)!}{n(n-1)!} = -\frac{1}{n} \\ 4. HA((\ln x)^a) &= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n (\ln x)^a \, dx \\ &= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^{n+a} \, dx \end{aligned}$$

1 x  $2^{n+1}$ 1  $x^2$  $\overline{3^{n+1}}$ 1  $x^a$  $a \in z^+$  $\overline{(a+1)^{n+1}}$  $\chi^{\frac{1}{a}}$  $(a)^{n+1}$  $a \in z^+$  $(a+1)^{n+1}$  $\frac{(b)^{n+1}}{(a+b)^{n+1}}$  $\chi^{\frac{a}{b}}$  $\mathrm{a}\&b\in z^+$ 

**Proofs:** 

$$=\frac{(-1)^n}{n!}\int_0^1(\ln x)^n\frac{(\ln x)-(\ln x)^{-1}}{2}dx$$

$$= \frac{(-1)^n}{2n!} \left[ \int_0^1 (\ln x)^{n+1} dx - \int_0^1 (\ln x)^{n-1} dx \right]$$
  
$$= \frac{(-1)^{2n+1} (n+1)!}{2n!} - \frac{(-1)^{2n-1} (n-1)!}{2n!} = \frac{-(n+1)n!}{2n!} + \frac{(n-1)!}{2n!}$$
  
$$- \frac{(n+1)n!}{2n!} + \frac{(n-1)!}{2n(n-1)!} = \frac{-(n+1)}{2} + \frac{1}{2n}$$
  
7.HA(cosh ln ln x) =  $\frac{(-1)^n}{n!} \int_0^1 (\ln x)^n \cosh \ln \ln x dx$   
$$= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^{n+1} dx + \int_0^1 (\ln x)^{n-1} dx \right]$$
  
$$= \frac{(-1)^n}{2n!} \left[ \int_0^1 (\ln x)^{n+1} (n+1)! + (-1)^{n-1} (n-1)! \right]$$
  
$$= \frac{(-1)^{2n+1} (n+1)!}{2n!} + \frac{(-1)^{2n-1} (n-1)!}{2n!}$$

$$=\frac{-(n+1)n!}{2n!}-\frac{(n-1)!}{2n(n-1)!}=\frac{-(n+1)}{2}-\frac{1}{2n}$$

8.*HA*(sinha ln ln x) =  $\frac{(-1)^n}{n!} \int_0^1 (\ln x)^n (\sinh a \ln \ln x) dx$ 

$$= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n \frac{(\ln x)^a - (\ln x)^{-a}}{2} dx$$
  
$$= \frac{(-1)^n}{2n!} \Big[ \int_0^1 (\ln x)^{n+a} dx - \int_0^1 (\ln x)^{n-a} dx \Big]$$
  
$$= \frac{(-1)^n}{2n!} [(-1)^{n+a} (n+a)! - (-1)^{n-a} (n-a)!]$$
  
$$= \frac{(-1)^{2n+a}}{2n!} (n+a)! - \frac{(-1)^{2n-a}}{2n!} (n-a)! = \frac{(-1)^a}{2n!} (n+a)! - \frac{(-1)^{-a}}{2n!} (n-a)!$$

9. 
$$HA(\cosh \ln \ln x) = \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n \cosh \ln \ln x \, dx$$
  
$$= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n \, \frac{(\ln x)^a + (\ln x)^{-a}}{2} \, dx$$
$$= \frac{(-1)^n}{2n!} \Big[ \int_0^1 (\ln x)^{n+a} \, dx + \int_0^1 (\ln x)^{n-a} \, dx \Big]$$

$$\begin{aligned} &= \frac{(-1)^n}{2n!} \left[ (-1)^{n+a} (n+a)! + (-1)^{n-a} (n-a)! \right] \\ &= \frac{(-1)^n}{2n!} (n+a)! + \frac{(-1)^{n-a}}{2n!} (n-a)! \\ &= 0.044(x) - \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n x \, dx \\ \text{If } n=1 \\ &= -\left[ \int_0^1 (\ln x) x \, dx \right] \\ &= -\left[ (\ln x)^{\frac{2}{2}} \right]_0^1 - \frac{1}{2} \int_0^1 x^2 \frac{1}{x} \, dx \right] = -\left[ -\frac{1}{2} \int_0^1 x \, dx \right] = \frac{1}{2} \left[ \frac{x^2}{2} \right]_0^1 = \frac{1}{2} \left[ \frac{1}{2} \right] \\ &= \frac{1}{2^2} \\ &= \frac{1}{2^2} \\ \text{If } n=2 \\ &= \frac{1}{2!} \int_0^1 (\ln x)^2 x \, dx \\ &= \frac{1}{2!} \left[ (\ln x)^2 \frac{x^2}{2} \right]_0^1 - \frac{1}{2} \int_0^1 x^2 2(\ln x) \frac{1}{x} \, dx \right] = -\frac{1}{2} \int_0^1 (\ln x) x \, dx \\ &= \frac{1}{2!} \left[ (\ln x)^2 \frac{x^2}{2} \right]_0^1 - \frac{1}{2} \int_0^1 x^2 2(\ln x) \frac{1}{x} \, dx \right] = -\frac{1}{2} \int_0^1 (\ln x) x \, dx \\ &= \frac{1}{2!} \left[ (\ln x)^3 x \, dx \\ &- \frac{1}{6!} \left[ (\ln x)^3 \frac{x^2}{2!} \right]_0^1 - \frac{1}{2!} \int_0^1 x^2 3(\ln x)^2 \frac{1}{x} \, dx \right] = (-\frac{1}{4!}) \int_0^1 (\ln x)^2 x \, dx \right] = (-\frac{1}{2!}) \left[ \frac{1}{6!} \right] = \left[ \frac{1}{16!} \right] = \frac{1}{2^4} \\ \text{So, } HA(x) &= \left[ \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n x^2 \, dx \\ \text{If } n=1 \\ &= -\int_0^1 (\ln x) x^2 \, dx \\ &= -\left[ (\ln x) \frac{x^3}{3!} \right]_0^1 - \frac{1}{3!} \int_0^1 x^3 \frac{1}{3!} \, dx \right] \\ &= -\left[ -\frac{1}{3!} \int_0^1 x^2 \, dx \right] = \frac{1}{3!} \left[ \frac{x^3}{3!} \right]_0^1 = \frac{1}{3!} \left[ \frac{1}{3!} \right] = \frac{1}{9!} = \frac{1}{3^2} \\ \text{If } n=2 \\ &= -\frac{1}{2!} \int_0^1 (\ln x)^2 x^2 \, dx = \frac{1}{3!} \left[ (\ln x)^2 \frac{x^3}{3!} \right]_0^1 - \frac{2}{3!} \int_0^1 (\ln x) \frac{1}{x} x^3 \, dx \right] = \left( -\frac{1}{3!} \right) \int_0^1 (\ln x) x^2 \, dx = \left( \frac{1}{3!} \right) \left[ \frac{1}{3!} \right] = \left[ \frac{1}{3!} \right] = \frac{1}{3!} \\ \text{If } n=3 \\ &= -\frac{1}{3!} \int_0^1 (\ln x)^3 x^2 \, dx \\ &= -\frac{1}{3!} \int_0^1 (\ln x)^3 \frac{x^3}{3!} \right]_0^1 - \frac{1}{3!} \int_0^1 x^3 3 (\ln x)^2 \frac{1}{x} \, dx \right] - \left( \frac{1}{6!} \right) \int_0^1 (\ln x)^2 x^2 \, dx = \left( \frac{1}{3!} \right) \left[ \frac{1}{3!} \right] = \frac{1}{3!} \\ &= \frac{1}{(\frac{1}{3!} - \frac{1}{3!}} \int_0^1 (\ln x)^3 x^2 \, dx \\ &= -\frac{1}{(\frac{1}{3!} - \frac{1}{3!}} \int_0^1 (\ln x)^3 x^3 \, dx$$

If n=1  

$$= -\int_{0}^{1} (\ln x) x^{a} dx$$

$$= -[(\ln x) \frac{x^{a+1}}{a+1} |_{0}^{1} - \frac{1}{a+1} \int_{0}^{1} x^{a+1} \frac{1}{x} dx]$$

$$= -\frac{1}{a+1} \int_{0}^{1} x^{a} dx - \frac{1}{a+1} (\frac{x^{a+1}}{a+1} |_{0}^{1}) - \frac{1}{(a+1)^{2}}$$
If n=2  

$$= \frac{1}{2} \int_{0}^{1} (\ln x)^{2} x^{a} dx$$

$$= \frac{1}{2} [(\ln x)^{2} \frac{x^{a+1}}{a+1} |_{0}^{1} - \frac{1}{a+1} \int_{0}^{1} x^{a+1} 2(\ln x) \frac{1}{x} dx]$$

$$= (-\frac{1}{a+1}) \int_{0}^{1} (\ln x) x^{a} dx = (\frac{1}{a+1}) [\frac{1}{a+1}]^{2} = \frac{1}{(a+1)^{2}}$$
If n=3  

$$= -\frac{1}{3!} \int_{0}^{1} (\ln x)^{3} x^{a} dx$$

$$= \frac{1}{6} [(\ln x)^{3} \frac{x^{a+1}}{a+1} |_{0}^{1} - \frac{1}{a+1} \int_{0}^{1} x^{a+1} 3(\ln x)^{2} \frac{1}{x} dx]$$

$$= (-\frac{1}{2})(\frac{1}{a+1}) \int_{0}^{1} (\ln x)^{2} x^{a} dx = (\frac{1}{a+1}) [\frac{1}{a+1}]^{3} = \frac{1}{(a+1)^{4}}$$
I3.*HA*( $x^{\frac{1}{2}} = \frac{(-1)^{n}}{n!} \int_{0}^{1} (\ln x)^{n} x^{\frac{1}{a}} dx$ ; as  $z^{+}$   
If n=1  

$$= -\int_{0}^{1} (\ln x) x^{\frac{1}{a}} dx$$

$$= -[(\ln x) \frac{x^{\frac{1}{a+1}}}{\frac{1}{a+1}} |_{0}^{1} - \frac{1}{\frac{1}{a+1}} \int_{0}^{1} x^{\frac{1}{a+1} \frac{1}{x}} dx] = \frac{1}{\frac{1}{\frac{1}{a}} \int_{0}^{1} x^{\frac{1}{a}} dx$$

$$= -\frac{1}{\frac{1}{2!}} (\int_{0}^{1} (\ln x)^{2} x^{\frac{1}{a}} dx$$

$$= -\frac{1}{\frac{1}{2!}} [(\ln x)^{2} x^{\frac{1}{a}} dx$$

$$= -\frac{1}{\frac{1}{2!}} [(\ln x)^{2} x^{\frac{1}{a}} dx$$

$$= -\frac{1}{\frac{1}{3!}} \int_{0}^{1} (\ln x)^{3} x^{\frac{1}{a}} dx$$

$$= -\frac{1}{\frac{1}{3!}} \int_{0}^{1} (\ln x)^{3} x^{\frac{1}{a}} dx$$

$$= -\frac{1}{\frac{1}{3!}} \int_{0}^{1} (\ln x)^{2} (x)^{\frac{1}{a}} dx = (\frac{1}{a+1})^{\frac{1}{a}} (1)^{\frac{1}{a}} \frac{1}{a+1} - \frac{1}{a} x^{\frac{1}{a}} dx$$
If n=3  
If general  
*HA*( $x^{\frac{1}{a}$ ) =  $(\frac{1}{a+1}n^{n+1}$ ;  $a \in x^{+}$   
14. *HA*( $x^{\frac{n}{a}$ ) =  $(\frac{-1}{a}n^{n+1})_{0}^{-1} (\ln x)^{n} x^{\frac{n}{a}} dx$ 
If n=1

$$= -\int_{0}^{1} (\ln x) x^{\frac{a}{b}} dx = -[(\ln x) \frac{x^{\frac{a}{b}+1}}{\frac{a}{b}+1}|_{0}^{1} - \frac{1}{\frac{a}{b}+1}\int_{0}^{1} x^{\frac{a}{b}+1} \frac{1}{x} dx] = \frac{1}{\frac{a}{b}+1}\int_{0}^{1} x^{\frac{a}{b}} dx$$

$$= \frac{1}{\frac{a}{b}+1} \left[ \frac{x^{\frac{a}{b}+1}}{\frac{a}{b}+1} \right]_{0}^{1} = \frac{1}{\frac{a+b}{b}} \left[ \frac{1}{\frac{a+b}{b}} \right] = (\frac{b}{a+b})^{2}$$
If n=2
$$HA(x^{\frac{a}{b}}) = \frac{1}{2!}\int_{0}^{1} (\ln x)^{2} x^{\frac{a}{b}} dx$$

$$= \frac{1}{2}[(\ln x)^{2} \frac{x^{\frac{a}{b}+1}}{\frac{a}{b}+1} |_{0}^{1} - \frac{1}{\frac{a}{b}+1}} \int_{0}^{1} x^{\frac{a}{b}+1} 2(\ln x) \frac{1}{x} dx]$$

$$= \left(-\frac{1}{\frac{a}{b}+1}\right) \int_{0}^{1} x^{\frac{a}{b}+1} 2(\ln x) \frac{1}{x} dx = \left(\frac{b}{a+b}\right) \left[\frac{b}{a+b}\right]^{2} = \left(\frac{b}{a+b}\right)^{3}$$
If n=3
$$HA(x^{\frac{a}{b}}) = -\frac{1}{3!} \int_{0}^{1} (\ln x)^{3} x^{\frac{a}{b}} dx$$

$$= -\frac{1}{6} [(\ln x)^{3} \frac{x^{\frac{b}{b}+1}}{\frac{a}{b}+1} |_{0}^{1} - \frac{1}{\frac{a}{b}+1}} \int_{0}^{1} x^{\frac{a}{b}+1} 3(\ln x)^{2} \frac{1}{x} dx]$$

$$= \left(\frac{1}{2}\right) \left(\frac{1}{\frac{a}{b}+1}\right) \int_{0}^{1} (\ln x)^{2} x^{\frac{a}{b}} dx = \left(\frac{b}{a+b}\right) \left[\frac{b}{a+b}\right]^{3} = \left(\frac{b}{a+b}\right)^{4}$$

In general  $HA(x^{\frac{a}{b}}) = (\frac{b}{a+b})^{n+1}$ Theorem 2.4. If HA[f(x)] = f(n) and a is positive integer, then  $HA[(\ln x)^{\pm a} f(x)] = \bar{f}(n \pm a)$ **Proof:** Since HA[f(X)] = f(n), then  $HA[\ln x)^{\pm a} f(x)] = \frac{(-1)^n}{n!} \int_0^1 (\ln x)^n (\ln x)^{\pm a} dx$  $= \frac{(-1)^n}{n!} \int_0^1 (\ln x)^{n \pm a} f(x) dx = \bar{f}(n \pm a)$ Examples 2.5. (1)  $HA(\sinh 2 \ln \ln x) = \frac{(-1)^2 (n+2)!}{2n!} - \frac{(-1)^{-2} (n-2)!}{2n!}$ =  $\frac{(n+2)(n+1)n!}{2n!} - \frac{(n-2)!}{2n(n-1)(n-2)!} = \frac{(n+2)(n+1)}{2} - \frac{1}{2n(n-1)(n-1)!}$ So,  $HA(\ln x \sinh 2 \ln \ln x) = \frac{(n+1+2)(n+1+1)}{2} - \frac{1}{2n(n-1)}$  $=\frac{(n+3)(n+2)}{2}-\frac{1}{2n(n-1)}$ (2)  $HA(\cosh 3 \ln \ln x) = \frac{(-1)^3(n+3)!}{2n!} + \frac{(-1)^{-3}(n-3)!}{2n!}$  $= \frac{-(n+3)(n+2)(n+1)n!}{2n!} + \frac{2n!}{2n(n-3)!} + \frac{-(n-3)!}{2n(n-1)(n-2)(n-3)!} = \frac{-(n+3)(n+2)(n+1)}{2} - \frac{1}{2n(n-1)(n-2)}$  $\frac{1}{2n(n-1)(n-2)}$ 

(3) 
$$HA((x)^{a}) = \frac{1}{(a+1)^{n+1}}$$
  
So,  $HA(x(\ln x)^{2}) = \frac{1}{2^{n+2+1}} = \frac{1}{2^{n+3}}$  if  $a = 1$   
(4)  $HA(x^{2}) = \frac{1}{(3)^{n+1}}$  if  $a = 2$   
So,  $HA(x^{2}(\ln x)^{-2}) = \frac{1}{3^{n-2+1}} = \frac{1}{3^{n-1}}$   
(5)  $HA(x^{\frac{1}{3}}) = \frac{(1+1)^{n+1}}{(3+1)^{n+1}} = \frac{2^{n+1}}{4^{n+1}}$   
So,  $HA((\ln x)x^{\frac{1}{3}}) = \frac{2^{n+1+1}}{4^{n+1+1}} = \frac{2^{n+2}}{4^{n+2}} = \frac{1}{2^{n+2}}$   
(6)  $HA(x^{\frac{1}{2}}) = \frac{2^{n+1}}{3^{n+1}}$   
So,  $((\ln x)^{2}x^{\frac{1}{2}}) = \frac{2^{n+2+1}}{3^{n+2+1}} = \frac{2^{n+3}}{3^{n+3}}$ 

#### 3. Inverse Transforms.

In this section we will present the inverse transforms for Al-bazy Al-tememe transformation and introduce some of properties.

## **Definition 3.1.**

Let f(x) be a function where  $x \in (0,1]$  and HA[f(x)] = f(n), f(x) is said to be an inverse for Al-bazy Al-tememe transformation and written as:

$$(HA)^{-1}[f(n)] = f(x)$$
 where  $(HA)^{-1}$ 

returns the transformation to the original function.

#### Theorem 3.2.

 $(HA)^{-1}$  has the linear property as it is for Albazy Altememe. i.e  $(HA)^{-1} [a_1 f_1(n) \pm a_2 f_2(n) \dots \dots \pm a_m f_m(n)]$  $= a_1(HA)^{-1} [f_1(n)] \pm a_2(HA)^{-1} [f_2(n)] \pm \dots \dots \pm a_m (HA)^{-1} [f_m(n)]$  $= a_1 f_1(\mathbf{x}) \pm a_2 f_2(\mathbf{x}) \pm \dots \dots \pm a_m f_m(\mathbf{x})$ Where ,  $a_1, a_2... a_m$  are constants, the functions  $f_1(x) f_2(x) ... f_m(x)$ are defined when  $x \in (0,1]$ . 1.  $(HA)^{-1}(1)=1$  $2.(HA)^{-1}(-(n+1)) = \ln x$ 3.  $(HA)^{-1}(-\frac{1}{n}) = (\ln x)^{-1}$ 4.  $(HA)^{-1}(\frac{(-1)^{n+a}}{n!}(n+a)!) = (\ln x)^a$ 5.  $(HA)^{-1}(\frac{(-1)^{n-a}}{n!}(n-a)!) = (\ln x)^{-a}$ 6.  $(HA)^{-1}(\frac{-(n+1)}{2} + \frac{1}{2n}) = \sinh \ln \ln x$ 7.  $(HA)^{-1}(\frac{-(n+1)}{2} - \frac{1}{2n}) = \cosh \ln \ln x$ 8.  $(HA)^{-1(\frac{(-1)^{a}}{2n!}(n+a)!-\frac{(-1)^{-a}}{2n!}(n-a)!)=sinha \ln \ln x$ 9.  $(HA)^{-1} (\frac{(-1)^a}{2n!} (n+a)! + \frac{(-1)^{-a}}{2n!} (n-a)!) = \cosh \ln \ln x$  $10.(HA)^{-1}(\frac{1}{(a+1)^{n+1}}) = x^a$ 

11. 
$$(HA)^{-1}\left(\frac{(a)^{(n+1)}}{(a+1)^{(n+1)}}\right) = x^{\frac{1}{a}}$$
  
12.  $(HA)^{-1}\left(\frac{(b)^{n+1}}{(a+b)^{n+1}}\right) = x^{\frac{n}{b}}$   
Examples :  
1.  $HA^{-1}\left(\frac{1}{(7)^2}\right) = x^6$   
2.  $HA^{-1}\left(\frac{1}{(5)^3}\right) = x^4$   
3.  $HA^{-1}\left(\frac{3^{2+1}}{(4)^{2+1}}\right) = x^{\frac{1}{3}}$   
4.  $HA^{-1}\left(\frac{5^{3+1}}{(6)^{3+1}}\right) = x^{\frac{1}{5}}$   
5.  $HA^{-1}\left(\frac{5^{2+1}}{(3+5)^{2+1}}\right) = x^{\frac{3}{5}}$   
6.  $HA^{-1}\left(\frac{(-1)^{n-7}(n-7)!}{n(n-1)(n-2)...(n-7)!}\right) = (\ln x)^{-7}$   
7.  $HA^{-1}\left(\frac{(-1)^3}{2n!}(n+3)! - \frac{(-1)^{-3}}{2n!}(n-3)!\right) = \sinh 3 \ln \ln x$   
8.  $HA^{-1}\left(\frac{2^{3+1}}{(4+2)^{3+1}}\right) = x^{\frac{4}{2}} = x^2$   
9.  $HA^{-1}\left(\frac{(-1)^{n+10}(n+10)(n+9)...(n+1)n!}{n!}\right) = (\ln x)^{10}$   
10.  $HA^{-1}\left(\frac{(-1)^9}{2n!}(n+9)! + \frac{(-1)^{-9}}{2n!}(n-9)!\right) = \cosh 9 \ln \ln x$ 

## **References** :

[1] Gabriel Nagy , **"ordinary Differential Equations "** Mathematic Department, Michgan State University, East Lansing, MI, 48824.October 14,2014.

[2] A.H. Mohammed, Zahir M. Hussain, Rasoul, H.N. " Using Al-Tememe Transform to Solve Linear Partial Differential Equations with Applications" A thesis of MSc. Submitted to the university of Kufa, Faculty of computer sciences and mathematics, 2016. And A.H. Mohammed, Mohammed Ali B.S. " On Studying of Al-Tememe Transformation for Partial Differential Equations" A thesis of MSc. Submitted to the council of University of Kufa, Faculty of Education for girls, 2017.

[3] Mohammed, A.H., Sadiq B.A., "AL-Zughair Transform ", LAP LAMBERT Academic Publishing, 2017. And Mohammed A.H., Abdullah N.G., "Some Applications of Al-Zughair Transform for Solutions of Some Types of Ordinary Differential Equations" thesis of MSc. University of Kufa, Faculty of Education for girls, 2019.

[4] Mohammed A.H., Abdullah, N.G., "AL-Zughair and Al-Zughair Expansion Transformations and Some Uses", International Journal of Mechanical and Production Engineering Research and Development (IJMPERD) ISSN: 2249-8001, 12 September 2018. And Mohammed A.H., Atyiah N.A., "Expansion of Al-Zughair transform for solving some kinds of partial differential equation", International Journal of pure and applied Mathematics, V 119 no. 18, 2018.

[5] A.H. Mohammed, A.Q. Majde, "An extension of Al-Zughair integral Transform for solving some LODE", Jour. Of Adv. Research in Dynamical and control system, Vol. 11, No. 5, (2019). And A.H. Mohammed, A.O. saud. A. Q. Majed, "An Extension of Al-Zughair

**Integral Transform for Solving some LPDE'S''**, Internet of Things, Springer ISSN : 2199-1073, November (2019).

[6] A.H. Battor ,E.A. Kuffi, A.H. Mohammed ," On Some Integral Transforms with Applications", A thesis submitted to the council of the faculty of Education for Girls 2022 A.D.